3.1 Power Rule

PRACTICE

Find the derivative of the following.

1. f(x)=2x*—4x+5

2. y=3x1%-2x% - 7x

3. g(x) =5x7%~ gx“
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Find the derivatives of the following:

16. f(x) =3x” —4x3 +5x
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Given f(x) =32% —x+2, g(x)=—+e’,ad h(x) =X, find the following.
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22. Find the slope of f(x) atx = 3.

23. At what value of xis f'(x) =0 ?

24. Whatis the slope of the tangent
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Find the slope of the tangent line.
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Is the slope of the tangent line positive, negative, or zero at the given point?
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30. g(x) =3Vx5—4x! atx =8
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Write the equation of the tangent line and the normal line that point given.
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The function is graphed below. Write the equation of the tangent line at the given point and graph it.
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The function is graphed below. Write the equation of the normal line at the given point and graph it.
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Use the graph to find the derivative of the function at the given value. Round to nearest thousandth.
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Write the equation of the tangent line at the point given and sketch the graph. Round to nearest thousandth.
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3.1 Power Rule

TEST PREP

MULTIPLE CHOICE
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FREE RESPONSE Your score: out of 5
Use the table to answer the questions below.

X f(x) ' f'(x) g(x) g'(x) g"x)

0 -10 1 2 -7 3 -4

2 -4 5 2 -1 7 8

5 20 11 2 83 58 26

1. Find the average rate of change of foverthe interval 0 < x < 2. Find the value of x at which the
instantaneous velocity of g is equal to the average rate of change of f over the interval 0 < x < 2.

average rate of change of f instantaneous rate of change of g

2-0 2-0 2
2. Write the equation of the line nommal to g(x) at the point where x = 2.
1 1 5
(1 point) ——— _1'+1=—}[_1;—2.] or y=—7x—3

3. (f+9)"(5) =
F'(5)+g"(5)=2+26 =28 4+ (I point)
4. If B = f(x)—2g(x),then B'(0) =

B'(0) = f'(0)— 2g'(0) = 1 — 2(3) = ~5 <= (1 point)



